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B.A. DEGREE (C.B.C.S.) [REGULAR/IMPROVEMENT/REAPPEARANCE/
MERCY CHANCE] EXAMINATION, MARCH 2025

Fourth Semester
Complementary Course : HY4CMT01—TRANSITION TO THE CONTEMPORARY WORLD
[Common for B.A. Political Science Model I, B.A. Sociology Model I]
(For Private Registration Candidates—2017 Admission onwards)
Time : Three Hours Maximum Marks : 80

Instructions : This question paper contains two sections. Answer Section I questions in the answer
book provided. Section II Internal Examination questions must be answered in the question
paper itself. Follow the detailed instructions given under Section IL

Section I
PaArT A

Answer any ten questions.
Each question carries 2 marks.

1. The Declaration of the Rights of Man and of the Citizen.
2. Metternich.

3. Victor Emmanuel.

4. AdolfHitler.

5. Vladimir Lenin.

6. New Economic Policy.

7. Stock Market Crash of 1929.

8. Global Terrorism.

9. Sustainable Development.

10. Boxer Uprising.
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11. Treaty of Versailles.
12. Print Media.
(10 x 2 = 20)
Parr B
Answer any six questions.
Each question carries 5 marks.
13. Analyze the socio-political implications of French Revolution.
14. Assess the activities of Congress of Vienna.
15. Who was responsible for the unification of Germany ?
16. What were the fundamental causes of First World War ?
17. Estimate the role of Stalin in the spread of Communism in Europe.
18. Explain the impact of Great Economic Depression in Europe.
19. What are the elements of Sustainable Development.
20. Trace the formation and functions of league of Nations.
21. Sketch the merits and defects of the internet media.
(6 x 5=30)

Part C

Answer any two questions.
Each question carries 15 marks.

22. Describe the nature of Continental impact and its reactions.
23. What were the implications of the Russian Revolution ?
24. Review the working of the United Nations Organization.

25. Explain the information technology with special reference to mass media that decide the transition
to the contemporary world.

(2 x 15 =30)
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